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Exercise 3

a The arrival times are exponential, so f(t) = e ™ = 4e~4.

b The service time, in minutes, is t = 1/12, and the number of arrivals
between two successive lifts follows a Poisson with parameter \t; =
1/3. Therefore

Py ) = 1LY

¢ This is the probability that two customers arrive before the first lift
leaves, i.e., from above,

Py 3] — 18 (/3P
21

d In this case, at most one customer should arrive before the lift 1 leaves,
and no one between the first and the second. I.e.,

46_2/3
3

(P[N = 0]+ P[N = 1))P[N = 0] = [e"Y/3 4 e~ 1/3(1/3)]e~1/3 =



